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0 In this lesson the Sister Consanguineous’s share

will be covered.
0 This is the most complicated share calculation.

0 Follow the lessons and learn them. Repeat again and again.
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In the absence of Sf, Sc gets the share.
She is excluded by S, SS.., F, Sf if more than 2, Sf as residuary, Bf
Converted into residuary by D/SD, Bc

Reduces share of M if 2 or more
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. If single she gets 1/2

If 20r more than 2 they get 2/3 equally divided
If Sf +Sc ,then Sf will get 1/2 and balance of 2/3 i.e. 1/6 goes to Sc
If Sf are more than 2 then Sc gets excluded.

In association with D or SD they become residuaries.

In the presence of equal male counterparts they become residuaries.

E.g.. Bf & Sf and Bc & Sc. With double share to male.

S,SS, SSS, F excludes them



Presence of S, SS.., F, Bf

If a) 2 or more Sf without Bc or
b) D/SD + Sf

No S, SS.., F, Bf With TGF

No S, SS, F, TGF, Bf, Sf+D/SD with Bc

No S, SS, F, TGF, Bf, Sf, Bc with D /SD

No S, SS, F, TGF, Bf, Bc, D, SD with 1 Sf

Single
No S, SS, F, TGF? , Bf, D, SD, Sf, Bc

2 or more
No S, SS, F, TGF?, Bf, D, SD, Sf, Bc
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Nil

Nil

Same as Sf

Balance with Bc
1:2

Balance alone

1/6

1/2
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Presence of S, SS.., F,

No S, SS.., F with TGF Same as Sf

No S, SS.., F, TGF with Bf Nil

No S, SS, F, TGF, Bf, but Sf+ with D/SD Nil

No S, SS, F, TGF, Bf, Sf with Bc Balance with Bcl:2
No S, SS, F, TGF, Bf, D/SD with Bc Balance with Bc1:2
No S, SS, F, TGF, Bf, Sf, Bc with D /SD Balance alone
No S, SS, F, TGF, Bf, Bc, D, SD With 1 Sf 1/6

No S, SS, F, TGF, Bf, Bc, D, SD With 2 or more Sf Nil

No S, SS, F, TGF , Bf, D, SD, Sf, Bc 1/2

11. No S, SS, F, TGF , Bf, D, SD, Sf, Bc 2/3
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0 For easy remembrance of Sc share follow the same method as Sf. It is given in

the next chart.
0O Yellow coloured ones are the balance heirs list.

0 The same chart is given in 3 forms. It slightly differs from Sf’s chart. After
Sf+D/SD where Sf as balance heirs the chart splits into two. One when Sf is not
there but D/SD is there. The other where D/SD is not there but Sf is there and

at the end when both are not there



¢ (If D/SD/SSD alive)

=P
LRS-

S (f D/SD/SSD alive but No Sf)

Sf Single No D/SD/SSD
Sf 2 or more No D/SD/SSD

None from above

Sc. Share

Nil
Nil
Nil
Nil
Two opinions 1. Nil
2. Balance with TGF

Nil
Nil
Balance with Bc

Balance alone
1/6

Nil

Single = 1/2

Two or more = 2/3

ISLAMIC
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It is given in the next 2 slides

in a simplified manner



Sf (If D/SD/SSD alive)

D D
1 1

Se + D/3SD /335D
Sf Single
Sf 2 or more

None from above
No Sf, D/SD, Bc

Nil

Nil

Nil

Nil

Two opinions 1. Nil
2. Balance with TGF
Nil

Nil

Balance with Bc
Balance alone

1/6

Nil

Single = 1/2

Two or more = 2/3

Learn and remember this well



No D/SD/SSD but Sf present
BC Balance with Bc
Sf Single 1/6

Sf 2 or more Nil

None from above Single = 1/2

2 or more = 2/3

Sc. inheritance

Nil
Nil
Nil
Nil

Two opinions 1. Nil
2. Balance with TGF

Nil

Nil

No Sf but D/SD present

Bc Balance with Bc

Se + D/SD/SSD Balance alone

None from above Single = 1/2

2 or more = 2/3

Learn and remember this well



{ ISLAMIC

inheritancelw...

HOW TO FIND SISTER CONSANGUINEOUS’s (S¢) SHARE? E

Is YES
D or SD 'i5c = Balance only

Alive ?

Is
Any of NO
5. 55. 855, F. Bf

Is
Sister Full (5F)
Alive ?

Is
True Grand Father
Alive 7

Alive ?

YES

SC = Bal with Bc umber of Sc "
cnce w N all:i've?fs e | éc= 1/2
In the ratio M:F = 21

Sc = Nil 2 VIEWS
Sc = Nil
S¢ = Balance with TGF

2 or MORE

c=2/3

Sc = Nil |

l YES ive 7
Number of §f

: : alive? SC = 1/6
5¢ = Balance with Bc
In the ratio M:F = 2:1

2 or MORE

Sc = Nil
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St, Sc Sf=1/2, Sc = 1/6 (total not exceeding 2/3)

Sf, 4 Sc Sf=1/2,4Sc=1/6 (Sc = 1/24)
251, Sc 25f=2/3, Sc = Nil
Sf, Sc, Bc Sf=1/2, Sc+Bc = balance

D/SD, Sf, Sc D=1/2,SD =1/6, Sf = balance, Sc = Nil
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Sf or Bc may affect Sc advantageously or adversely sometimes.
1. H, Sf, Sc, Bc - Here Bc adversely affects Sc. Both get nil
2. D, SD, Sf, Sc - Here Sf adversely affects Sc

3. M, 2Sf, Sc, Bc - here Bc benefits Sc
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Now solve the following cases. Living heirs are given.
Find the share of Sc.

Confirm that they are correct by looking at the answers in the next slide
M, W, Sc . W, Sc, SD
W, 2Sc . D, SD, H, M, Sc
H, Sf, Sc . M, D, Bf, Sc
M, Bc, Sc . W, 25f, Su, Sc

W, 2Sf, Bc, Sc
(Bc benefits Sc)

D, SF, H, Sc

H, Sf, Bc, Sc (Bc

With TGF
adversely affects)
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No.|  Queston | Answer

1. M, W, Sc M=1/3, W=1/4, Sc=1/2

W, 2Sc W=1/4, 2Sc=2/3
Note: Actual shares may
H=1/2, Sf=1/2, Sc=1/6. Awl readjusted vary, after considering

H, Sf, Sc H=3/7,8f=3/7, Sc=1/7

other heirs.

M, Bc, Sc M=1/6, Bc+Sc=bal=5/6,(Bc=10/18, Sc=5/18)

W, 28f, B, Sc W=1/4, 28f=2/3, Bc+Sc=bal=1/12 (Bc=2/36, Shares vary when Radd
(Bc benefits Sc) Sc=1/36) or Awl is required to be

applied.
H, Sf, Bc, Sc (Bc .
H=1/2, Sf=1/2, Bc+Sc=bal=nil
adversely affects)
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No. Question Answer

W=1/4,SD =1/2, Sc = balance = 1/4

D, SD, H, M, Sc D=1/2,8D=1/6,H=1/4,M=1/6, Note: Actual shares may

Sc = balance = Nil S
vary, after considering

M =1/6,D = 1/2, Bf = balance = 2/6, other heus.

M, D, Bf, Sc Sc = Nil (excluded)

W=1/4,25f=2/3,Su=1/6, Shares vary when Radd

W, 251, Su, Sc Sc = Nil (excluded)

or Awl is required to be
D=1/2,H=1/4, Sf = balance = 1/4, applied
D, SF, H, Sc Sc = Nil (excluded)

With TGF Ref. Under TGF
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Pr./Sec Secondary Heir
F, TGF ?, S, SS, SSS, Bf 2Sf, Sf as
residuary

With D/SD Exclude BfS or lower(As
residuary)

Excluded by

Excludes

Share fraction Refer back

Reduces share of mother if >1or with
other Br/Sr

D &SD covert her into Residuary

Effect on others

Biestooti s Bc converts her into Residuary

Effect of Awl Share reduces

Effect of Radd Eligible

Special occasion With TGF




- _ ISLAMIC
inheritancelas...

Banconeis | | st | so
S o

SS
F
TGF
Bf

Sf (If D / SD alive)

(- o

Single Sf (No D/SD)

Bc
2 or more Sf (No D/SD)

Sc (If D / SD alive) No Sf # (not alive)

Single Sf (No D/SD) 1/2

No balance heirs 2 or more Sf (No D/SD)
as above No Sf (No D/SD) +1 Sc

No Sf (No D/SD) +2 or more Sc
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